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General Instructions :

56/2

(i) All questions are compulsory.

(ii) Question number 1 to 5 are very short answer questions and carry 1 mark each.
(iii)  Question number 6 to 10 are short answer questions and carry 2 marks each.

(iv) Question number 11 to 22 are also short answer questions and carry 3 marks each.
(v) Question number 23 is a value based question and carry 4 marks.

(vi) Question number 24 to 26 are long answer questions and carry 5 marks each.

(vii)  Use log tables, if necessary. Use of calculators is not allowed.

THCY 4T B & 2 Ush 3T SIY |

What are emulsions ? Give an example.

SIS THTel I T T BT & 2

What is meant by chelate effect ?

=1 %1 3 g o T A (IUPAC) % feifam
CH, - CH, - CHO
Write the [UPAC name of the following :

CH, - CH, — CHO

T =7 I 9T o dgd shH | SHaAd HifeT
UeTH, p-ARguiee 3R p-2eEer

Arrange the following in increasing order of basic strength :

Aniline, p-Nitroaniline and p-Toluidine

AgCl T8 TR T WIRihaTIer I FeT & 2

What type of stoichiometric defect is shown by AgCl ?
2
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=7 et =t AT AT
(i)  IEHRH I TR AT gd 7 AlhT & |
(i) NF, T SR 9eT & W] NC/, SRS 0 € |

Explain the following :
(1)  Nitrogen is much less reactive than phosphorus.

(i)  NF; is an exothermic compound but NCI; is an endothermic compound.

TR RETHE i T fafy 1 aviE SIS | eTdihd WRHTHE TR 3T & AT e
ffsha shear & 2 Ifshar & ol eTmafaes FHieRoT fofay |

Feran
IR STEHE St SRR BRaT 1 aUI SHIT ST 3/ (i) TS (i) H,S &
e arett erafsranetl & ford emafer THieRol @i fafEn |

Describe the preparation of potassium permanganate. How does the acidified
permanganate solution react with oxalic acid ? Write the ionic equations for the

reactions.
OR

Describe the oxidising action of potassium dichromate and write the ionic equations

for its reaction with (i) an iodide (ii) H,S.

T 9 T a9 § 37T Foielienor &t fpanfaty fafan |

Write the mechanism of acid dehydration of ethanol to yield ethene.

() R (x)

(i) U Toera &t HeteraT (m)

Define the following terms :
(1)  Mole fraction (x)
(i) Molality of a solution (m)
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STRT 3iieY 3 fgdia eiieT srfufsranet & fordr ¥ feeriet & gfie fafay sq fefa & s/ ggar
% mol L~ 3 §HT =1 ehvel § forar T &l |

Write units of rate constants for zero order and for the second order reactions if the

concentration is expressed in mol L™! and time in second.

T o ST ST
(i) UM % oTeH  shIgarese o o i 2t € 2
(i) 9o T5FaT 3R FeTo | 3feR it |
(iii) “SHIEIITY U ¥ 7 aread BieT & 2
AT

el S & T e g & fafir=y i & g aret sifvfsrant fafaw |

Answer the following :

(1)  What is the role of cryolite in the metallurgy of aluminium ?
(i1) Differentiate between roasting and calcination.
(ii1) What is meant by the term ‘chromatography’ ?

OR

Write the reactions taking place in different zones of the blast furnace to obtain Iron.

SFUT F T A1 &Il € 2 SToli Taera O S STTITsharetl st Ueh SaTedvl ST |

What is meant by ‘disproportionation’ ? Give one example of disproportionation
reaction in aqueous solutions.

fr=fetaa & ITUPAC 9 fefae -

() [Co(NH,),ICL,

(i) [NiCl]*

(i) K;[Fe(CN)]

Write the [UPAC name of the following :
() [Co(NH,),ICL,

(i) [NiCl]*

(i)  K;5[Fe(CN),]
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T 2ifiTeRt < M€ g df T A (IUPAC) =TT i 3IfC

(1) CH3 - CIH - CH, - CH3
Br

Br

(i)
Br

(i) CH,=CH-CH, -CI

Give the IUPAC names of the following compounds :

(1) CH3 - CIH - CH, - CH3
Br

Br

(i)
Br

(i) CH,=CH-CH, -CI

11 ®aeRoT Sy o ST & 2

(i) SFTcT FARTES T ST~TeT Tohle e |

(i) TRt TR FARES I UoH-1-37cT §
(i) W9 = WO-2-377e |

How are the following conversions carried out ?
(1) Benzyl chloride to Benzyl alcohol

(1)) Ethyl magnesium chloride to Propan-1-ol

(1i1) Propene to Propan-2-ol

[P.T.O.



16. 7= siifspamet § g7 3 fofan

PCI,
() CHy-CH,0H —2—?
OH
anhyd. AICI,
(ii) + CH,- CI — 2

(i) CH,—Cl+ CH,CH, - ONa — ?

Write the major product in the following equations :

PCI,
() CH;-CH,0H —2—?
OH
anhyd. AICI,
(ii) + CH,- CI — 2

(i) CH,—Cl+ CH,CH, - ONa — ?

17. 9EH ¥ Fafgd = Sl 9o S
(i) uwrEe formhst
(i)  VTEHRT HCET
(iii) S
Define the following as related to proteins :
(1)  Peptide linkage
(i) Primary structure

(ii1) Denaturation

18.  “SHIUTATEIZSIYA’ UE hi SARET iU ST “SHIGTATRISSII o & STEI0T ST |

Explain the term ‘copolymerization’ and give two examples of copolymerization.

56/2 6
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feee foc STrere o fopeeferd eian & | 3fE ge ¥eT & i & oiETe 4.077 X 1078 cm &1, &t

oo T 3THEAM (1) UREhAd HINTT |

Silver crystallises in fcc lattice. If edge length of the unit cell is 4.077 X 1078 cm, then

calculate the radius of silver atom.

IR (M.W. 342) 1 5 Wi =it (T 3ER W) T 9614 X % 0.877% Hiel & 1

AEERIHE & | X T 2A0Tereh YR GHehiord iy |

A 5 percent solution (by mass) of cane-sugar (M.W. 342) is isotonic with 0.877%

solution of substance X. Find the molecular weight of X.

Tk U hife Atfshan o ford 5 feris 60 s & | atfiveres & URiTe |igor &1 29 1/10

T T2 | {oha=T 99T o ?

The rate constant for a first order reaction is 60 s~'. How much time will it take to

reduce the initial concentration of the reactant to its 1/10™ value ?

[a¥a

- .
e T oh! ST hlIS{Ul

() SEeEg
(i) ToFIERET
(iii) feveer wa

Describe the following processes :

(1) Dialysis
(i1) Electrophoresis

(11) Tyndall effect

[P.T.O.
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AR fedreded @R § 3 o WAH BeA o [ofd T | T @H | o8 $B IFRAed fefnd
@ | 9E FB U Tl wliee o feaa fohar S 39 ST & ford Suant o, st suh
TR YR 3 AU & | 81 A4 TehI ohi IPRRe [efohall o | 38 Ui A o8 Gohionel i
ST 3k FIET % ford ST off |

(i) U 3 PR e T A SISTT ST ARST 5 Fal @7 |
(i) o7 ST & U o fomT Udt ga WA AR & forat 3fere o 2
(iii) SORIERT ¥ ST BT DI | 0T HicTeAterd i & 2

Neeraj went to the departmental store to purchase groceries. On one of the shelves he
noticed sugar free tablets. He decided to buy them for his grandfather who was a
diabetic. There were three types of sugar free tablets. He decided to buy sucrolose

which was good for his grandfather’s health.
(1) Name another sugar free tablet which Neeraj did not purchase.
(1) Was it right to purchase such medicines without doctor’s prescription ?

(1i1) What quality of Neera] is reflected above ?

(a) 9 16 % o7 AHRUEAT TEH EAH THIed! qoaral STed arel 39 15 % ol &
T § T T I & | TFT A ¢ 2

(b) BT E I —

() % H,S0, i CaF, T ST S & 2

(i) TR STERATES TRDI i SURAT H FAR § Afshar et & 2

(iii) SHITTEH FARTES Hf Ca(OH), 3 T TN [HAT STl & 2

YT



(a) T Bt HEEATE SREd ifee
(i) BrF,
(i) XeO,
(b) 7 U=l o ST AT
()  PH,®I 37T NH, i 37fash e gie ¢ 2

(ii) A UeeT SATRIThR F1 Bl & 2

(iii) XeOF, %! GT=T SRfEd Hii=T |

(a) Elements of Gr. 16 generally show lower value of first ionization enthalpy

compared to the corresponding periods of Gr. 15. Why ?
(b)  What happens when

(1)  concentrated H,SO, is added to CaF, ?

(i1)  sulphur dioxide reacts with chlorine in the presence of charcoal ?
(ii)) ammonium chloride is treated with Ca(OH), ?
OR
(a) Draw the structure of the following :
(i) BrF;
(i)  XeOy
(b)  Answer the following :

()  Why is NH; more basic than PH; ?

(i)  Why are halogens strong oxidising agents ?
(ii)) Draw the structure of XeOF,.

56/2 9 [P.T.O.



25. (a) 7= ot A emfEd i
() p-HEISfCsEES
(i)  4-Afrerd=-3-39-2-3
(b) 1= ifiTes I § iR e o o1 Tt it i i
() s=iEe UfEs S TR |
(i) S=ifeeeRe 3R THEHHH
(iii) IFTeT 3 S=igh WS

reran
(a) T =T B WA STRAGT DT
() WA A

(i) CH,CHO I HHehrarsti

(b) TIHTA = 3T T ARt H 8 AR U1 2 THeg THEH THIHION I T |
(i) CH;-CH,4
(i) CH;-CH-CH,-CHO
on
(iii) CH,CH,OH
(a) Draw the structures of the following :
(1) p-Methylbenzaldehyde
(1) 4-Methylpent-3-en-2-one
(b)  Give chemical tests to distinguish between the following pairs of compounds :
(1) Benzoic acid and Ethyl benzoate.
(i) Benzaldehyde and Acetophenone.

(ii1)) Phenol and Benzoic acid.

OR

56/2 10



(a) Draw the structures of the following derivatives :
(1)  Propanone oxime

(i) ~ Semicarbazone of CH;CHO

(b) How will you convert ethanal into the following compounds ? Give the chemical

equations involved.
(i) CH;-CH,4

(i) CH;-CH-CH, -CHO
I
OH

(i) CH,CH,OH

26. A G° 3N e.m.f.(E) F UG HIE I 25 °C T ¥ee feafd # f1 det & wrf e &

Zn(s) | Zn**(aq) Il Sn**(aq) | Sn(s)

fgammr:E° ,, =-076V;E°_ ,, =-0.14V
Zn""/Zn Sn™"/Sn

A F = 96500 C mol ™!

YT

(a) U fae-sToaes o fooram o o =retehdl 3R WioR aTetshdl i UReId Hife |

FigdT o |1 39 TR hi SN HifeT |

(b) 3T TeTai-eh Yol o TWes Ul forver shi TNehieTa hireTq STa = SATHishan gial & :
Fe**(aq) + Ag*(aq) — Fe**(aq) + Ag(s)
3ATHAT T A G° SR Jodieh! Reiss 1 qReerT ot Sy |

(E° =0.80 V; E°

=0.77V)
Ag'/Ag Fe*/Fe*

56/2 11 [P.T.O.
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Calculate A G° and e.m.f. (E) that can be obtained from the following cell under the

standard conditions at 25 °C :
Zn(s) | Zn**(aq) Il Sn**(aq) | Sn(s)

Given : E° =-0.76 V; E° =-0.14V
Zn**/Zn Sn**/Sn

and  F=96500 C mol .
OR

(a) Define conductivity and molar conductivity for the solution of an electrolyte.

Discuss their variation with concentration.

(b) Calculate the standard cell potential of the galvanic cell in which the following

reaction takes place :
Fe**(ag) + Ag*(aq) — Fe™(aq) + Ag(s)
Calculate the A G° and equilibrium constant of the reaction also.

(E° =0.80 V; E° =0.77V)
Ag'/Ag Fe*/Fet
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